ORIGINAL KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32825	API No. 15095-21874-00-00
Name: Pioneer Exploration,LTD.	County: Kingman
Address: 15603 Kuykendahl Suite 200	C2_E2_NE_Nw Sec. 31 Twp. 30 S. R. 8 East West
City/State/Zip: Houston, Texas 77090-3655	760 feet from S (N) circle one) Line of Section
Durahagan	2310 feet from E (W)(circle one) Line of Section
Operator Contact Person: Shelia Bolding	Footages Calculated from Nearest Outside Section Corner:
, 281 、803-0400 Evt 234 節	(circle onle) NE SE (NW) SW
Contractor: Name: Ace Drilling	Lease Name: Conrardy Well #: 6-31
License: 33006	Field Name: Spivey Grabs Basil
	Producing Formation: Mississippian (Chat)
Wellsite Geologist: Designate Type of Completion: New Well Re-Entry Workover SIMP SIMP SIMP Town Abd	Elevation: Ground: 1641 Kelly Bushing: 1644
Designate Type of Completion: New Well Re-Entry Workover	Total Depth: 4502 Plug Back Total Depth: 4431
New Well Re-Entry Workover \$	
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 220 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan # 10.7.04
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volume 240 bbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	·
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Messenger Petroleum
	Lease Name: Nicholas SWD License No.: 4706
04/05/04 04/13/04 06/27/04 Spud Date or Date Reached TD Completion Date or	QuarterSec. 20 Twp. 30 S. R. 8 East 🗹 West
Recompletion Date Recompletion Date	County: Kingman Docket No.: D-25073
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulat herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Shelia R Belding	KCC Office Use ONLY
Title: Regulatory Analyst Date: 27 September 2004	Letter of Confidentiality Received
Subscribed and sworn to before me this 37 day of September	Wireline Log Received
20 04.	Geologist Report Received
Notary Public No	UIC Discribution
	ANITA ROMOSER MY COMMISSION EXPIRES
Date Commission Expires:	November 9, 2007

			Side	e Two			MAIA	I G C		
Operator Name: Pio	neer Exploration,	LTD.	Lease	Name:_	Conrardy	***	Well #: _6-31	1 / 1 hw	<i>,</i>	
	0S. R8			/: Kingn	nan					
INSTRUCTIONS: SI tested, time tool oper temperature, fluid red Electric Wireline Logo	n and closed, flowing covery, and flow rate	g and shut-in press s if gas to surface t	ures, whether st est, along with f	nut-in pre	ssure reached	static level, hydr	ostatic pressure	s, bottom	hole	
Drill Stern Tests Take		Yes V	No	₽L.	og Format	ion (Top), Depth	and Datum	□ s	ample	
Samples Sent to Geo	ological Survey	Yes 🗹	No	Name Topeka			Top 3003		Datum -1359	
Cores Taken		Yes 🗸	No	Heebner			3383		-1739	
Electric Log Run		✓ Yes ☐	No	Lans	ing		3608	-1	964	
(Submit Copy)				Starl	k Shale		4024		380	
List All E. Logs Run:				B/Ka	ansas City		4111		467	
Dual Induction	n Log			Che	rokee		4257		-2613	
	-			Miss	issippian		4326	-2	682	
			SING RECORD	✓ Ne	-	otion ata				
Purpose of String	Size Hole	Size Casing	s set-conductor, se	ight	Setting	Type of	# Sacks		nd Percent	
	Drilled	Set (In O.D.)	Lbs.	***************************************	Depth	Cement	Used	Ad	ditives	
Surface	12-1/4	8-5/8	24.0 J-		275	60/40	200			
Long String	7-7/8	4-1/2	10.5 J-	55	4475	ACS	170			
			`							
		ADDITI	ONAL CEMENTI	NG / SQL	JEEZE RECOR	D			N-0	
Purpose: —— Perforate —— Protect Casing —— Plug Back TD	Depth Top Bottom	Type of Cement #Sacks Used			Type and Percent Additives					
Plug Off Zone	***************************************					en e			W-MA	
Shots Per Foot		ION RECORD - Bridg Footage of Each Inter				acture, Shot, Ceme Amount and Kind of M		d	Depth	
	4327-40				Acidize 2000/Frac 36000 gals + 50000 # sand					
	4344-50									
	4354-58		- %							
			***************************************			· · · · · · · · · · · · · · · · · · ·	······			
	-					The state of the s				
TUBING RECORD 2-	 Size 3/8	Set At 4403	Packer / n/a	At	Liner Run	Yes V	0			
Date of First, Resumer 06/27/04	d Production, SWD or I	Enhr. Produci	ng Method	Flowin	g 🔽 Pump	oing Gas L	ift \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	er (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate		Bbls.	Gas-Oil Ratio	- (- sprain)	Gravity	
Disposition of Gas	4 METHOD OF	300 COMPLETION		33	Production Inte		7500			
Vented ✓ Sold			Hole Per	,	Dually Comp.					
	ubmit ACO-18.)		(Specify)		t	Commingled		A		

United Cementing & Acid Company, Inc.

2510 W. 6th St.

El Dorado, Kansas 67042

316-321-4680

800-794-0187

(Fax)316-321-4720

PO#

Remit Payment To:

One North Hudson, Suite 1000 Oklahoma City, OK 73102

405-278-8800

Customer: Pioneer Exploration, Ltd. PO Box 38 Spivey, Kansas 67142

Invoice No. 5955 Field Ticket 5501 Date 4/14/2004

Date o	of Job	County	State	Lease		Well No.		
04/1		KM	KS	Conrardy		#6-31		
Size of	Casing	Depth Of Well	Depth Of Job	Plug Depth		Pressure		
4-1	/2"	4502'	4475'		- 1			
Quantity		Description		Unit Price		Total		
		PRODUCTION CASI	NG	UOM.				
-	Cement Uni	it		-	-	•	1,093.00	
40	Mileage Cha			-	2.05	*	82.00	
170	USC Cemer	nt	•	sax	8.25		1,402.50	
850	Kol-Seal			lb	0.40		340.00	
5	4-1/2" Centi	ralizers		ea	29.70		148.50	
1 1	4-1/2" AFU	Float Shoe		ea	194.00		194.00	
1	4-1/2" Loc [Down Plug & Baffle		l ea l	150.00		150.00	
179	Bulk Charge	•		sax	0.98		175.42	
-	Drayage - 9	.00 tons x .73 x 40 mi.		-	-		262.80	
_	, J		-	1 - 1	_	1		
-			-	1 -	_	•	_	
-			-	! -	_		_	
-			_	_	_	I	_	
-	į	•	•	-	-	Ì	_	
-			-] - [_		_	
-			_	_	_		_	
-			•	- 1	_		-	
-			-	_	_		-	
_			-	_	_		_	
	Thank un	u for your continued be	(A im oaa				-	
	- min gu	a por gover communed by	WHICO D	-	- 1		-	
-			-	-			-	
	Taxable	*Non-Taxable	T D-4-				-	
ŀ	Taxable	"NON- I READIR	Tax Rate	Sales Tax		TOTAL DUE		

2673.22

1,175.00

0.053

141.68

\$3,989.90

TERMS: Net 30 days from invoice date. Please pay from this invoice.

United Cementing & Acid Company, Inc.

2510 W. 6th St.

El Dorado, Kansas 67042

316-321-4680

PO Box 38

Pioneer Exploration, Ltd.

Spivey, Kansas 67142

Customer:

800-794-0187

(Fax)316-321-4720

Remit Payment To:

One North Hudson, Suite 1000 Oklahoma City, OK 73102

5930

405-278-8800

Invoice No.

Field Ticket

5430 Date

4/8/2004

RECEIVED KANSAS CORPORATION COMMISSION

OCT 0 4 2004

PO#

CONSERVATION DIVISION WICHITA, KS

Date o	of Job	County	State	Le	ase	We	il No.
04/06		KM	KS	Conrardy		#6-31	
Size of		Depth Of Well	Depth Of Job	Plug Depth		Pressure	
8-5		275'					
Quantity	1	Description		Unit	Price	T	otal
Quartity	<u> </u>	SURFACE PIPE		UOM		<u></u>	<u> </u>
	Cement Unit			- 1	_	•	575.0
40		Mileage Charge		_	2.05	+	82.0
200	60/40 Pozmi			sax	4.90		980.0
4	Gel			sax	9.50		38.0
6	Calcium Chl	oride		sax	26.65		159.9
210	Bulk Charge	•		sax	0.98		205.8
-		0.50 tons x .73 x 40 mi.		_	-		306.6
1	8-5/8" Plug			-	-		43.0
-			-	-	-		-
-		;	-	-	-		-
-			_	-	-	ŀ	-
-			-	-	-		_
_			-	-	-	1	-
-			-	-	-		-
-		•	-	-	-		-
-			-	-	-		-
-			•	-	-		•
-			-	-	-		-
•			-	-	-		-
-	Thank you	ı for your continued bus	iness		-		-
-	•	•	-	-	_		-
-				-	-		_
	Taxable	"Non-Taxable	Tax Rate	Sale	в Тах	TOTA	AL DUE

1733.30

657.00

0.053

91.86

\$2,482.16

TERMS: Net 30 days from invoice date. Please pay from this invoice.